AEME HFEN, HFEB, #HFC  (100=7mS)
f%E BE
= BERS E 2 fis &5 RERS E 2 533
(B2 =) (B2 =)
sin% sing 2 7 +(n—-1p 3+(n—Dp 1
1 2 2 S -1 3 -1 1
%‘ * v 2 2 Japyy =1(an + IT) 2ay41 = 1(an +3) 2
= P L 1 F+, h, * 2,6 6 2
#LE * 9 2 7 3 2
(15) H 4R
z 1 1 16) T ans1 Aanyq 2
a,+3a ™" a,+3 "
T 3 1 Va 2 2
a, ¥ 1, 9 2 i(dn+u) E(dnJru) 2
q q
>, 2 2,1 2 0> % 052 1
7 1 1 u=+ u=0 1
1 0 1 7 0 1
7 0 1 1 7 1
T 1 1 7 4 1
52 log,(VF — %) log,(V5—2) 2 T 5 1
(15) %5/
¥ 0 1 Fh¥, 772 193,207 3
(16)
7 3 1 Y, v 2, 6 3
7 1 2 P 7 1
a 2 2 + 1 2
+ 1 3 v, R 1, 0 3
Tx+ A 2x+3 2 7 a 2
7 4 2 A= a—1 3
. ¢ 1 T—VF 1—5 3
%6/ h 4
16
F*x+H bx +¢ 2 a6 * 9 3
. x7 = 1 5 0 3
£ 30 s b
@) ac’? ac? 4 i 0 2
ﬁb:/ 3b3
z 0 3 7 2 4
tx+ YV cx+d 2 wl = 4 jwl =1 1
2F - -b
=~ —, 0 2 7 1 2
v 7 a BT
_ _ (16)
br= —2b 3 T 3 3
X 2 3a
GE) 1M, 2/, BE3MELE, FI4B~FETHOI A H 3 + 5 3
IR, 36 ME@E,
h 6 3




